

Multiply by 10^{-3} (B)

Find each product.

$$6,402 \times 10^{-3} =$$

$$7,58 \times 10^{-3} =$$

$$2,4838 \times 10^{-3} =$$

$$6,7116 \times 10^{-3} =$$

$$9,6901 \times 10^{-3} =$$

$$6,2 \times 10^{-3} =$$

$$5 \times 10^{-3} =$$

$$3,58 \times 10^{-3} =$$

$$7,73 \times 10^{-3} =$$

$$0,8846 \times 10^{-3} =$$

$$1,4427 \times 10^{-3} =$$

$$8,429 \times 10^{-3} =$$

$$1 \times 10^{-3} =$$

$$1,7 \times 10^{-3} =$$

$$2,18 \times 10^{-3} =$$

$$3,2 \times 10^{-3} =$$

$$0,12 \times 10^{-3} =$$

$$8,934 \times 10^{-3} =$$

$$9,033 \times 10^{-3} =$$

$$5,16 \times 10^{-3} =$$